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E"K‘ *14-16. The 3-1b block A rests on a surface for which the

——y coefficient of kinetic friction is My = 0.3. Determine the

distance the 8-Ib cylinder B must descend so that A has a
speed of vy = Sft/s starting from rest.
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A spider is suspended from the ceiling on a thread of negligible mass having a length /. Supposing that the
thread is Linearly elastic with a spring coefficient k, and that /, is the unstretched length, calculate the total
work which the spider will have to expend to climb to the ceiling. Compare this with the work required to

climb an inextensible tread of length /.
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A small hole is drilled through the earth along a diameter, and a ball of mass m is dropped from rest down
the hole. Find the maximum veloci

ty of the ball assuming a fixed, spherical, homogeneous, nonrotating
earth.



